HWEg R

BfERAM : S 5F 68308 (&) FrVESTLTHST
BEAk: ~RUYFTAHDR S AL - 108A (B : 96N - &tE: 12A)
HDCPERR : 5314 :36.4 - &Mt :40.4 HTHHYITH: FT)L/— (PAR x 2)
BLA—L: OUT @@® IN DD (1/3)
RIEGRE : A—N\YT a0 A9V bRy Y ENRI - %1 54 68308 (&)

JIE iz SMEA ouT IN GROSS HDCP NET S
B B KEBEE B 49 46 95 264 | 68.6 |AE
#EW £H E— 46 39 85 14.4 | 70.6 |AE

3 6L | Ty =5 ol 46 97 26.4 | 70.6 |AE

4 L |JEK HFE 93 o4 107 36.0 | 711.0 |AE

5 i |#iK = 41 43 84 12.0 | 72.0 |AE

6 fiL |EE = 46 46 92 19.2 | 72.8

1460 | EF [# 46 02 98 2.0 | 714.0 |AE

8 i |FF)Il BB ER 40 39 19 4.8 | 14.2

9 fiI | kB BF 46 45 91 16.8 | 74.2 |ZEH

10 i1 | RF%F # 06 02 108 33.6 | 714.4 |AE

11 iz |fgiE EA 48 39 87 12.0 | 75.0

12 1 | JIIF &EX 93 46 99 24.0 | 75.0

13 4 |kt FE 42 38 80 4.8 | 75.2

14 i | K& B 93 ol 104 28.8 | 75.2

15 1 Fft E£8 41 42 83 1.2 | 75.8

16 fi |#TH 1ERT 48 47 95 19.2 | 75.8

17 £ |[#5K B 48 40 38 12.0 | 76.0

18 i | hOfk Hi 20 43 93 16.8 | 76.2

19 4 |/AHA IE 48 48 96 19.2 | 76.8

20 fiI | #iK &BX 93 95 108 31.2 | 76.8 |mRUE

21 451 | FF/K Al 90 44 94 16.8 | 77.2

22 2 | BE EA iy 40 87 9.6 | 711.4

23 i | EBF % iy 40 87/ 9.6 | 717.4

24 i | ZH FA 93 46 99 21.6 | 71.4

25 fi1 |/ Bh T 53 46 99 21.6 | 71.4

26 i1 | =H 18 40 40 80 2.4 | 11.6

27 L | HI)I FOFB 48 42 90 12.0 | 78.0

28 {31 | KEF ZEBA iy 43 90 12.0 | 78.0

29 i1 |EZFE KA ol ol 102 24.0 | 78.0

30 4L |ARER RIEX 49 46 95 16.8 | 718.2 |RUE

31 i | Bl FR o]/ o0 107 28.8 | 78.2

32 5L | Il BHE o/ o0 107 28.8 | 78.2 |ZMEEER

33 L | THF 20 o0 100 21.6 | 78.4

4 | 5R 2 ol 49 100 21.6 | 78.4

35 I | AE BUE 92 93 105 26.4 | 78.6

36 i | AH &F o8 61 119 40.4 | 78.6 |ZME3M

37 L |& #F 41 45 86 1.2 | 78.8

38 L | EmK =1 93 45 98 19.2 | 78.8

39 i | HAF #BX 23 45 98 19.2 | 78.8

40 451 |1k EEH 20 48 98 19.2 | 78.8 |RUE




HWEg R

BfERAM : S 5F 68308 (&) FrVESTLTHST
BEAk: ~RUYFTAHDR S AL - 108A (B : 96N - &tE: 12A)
HDCPERR : 5314 :36.4 - &Mt :40.4 HTHHYITH: FT)L/— (PAR x 2)
BLA—L: OUT @@® IN DD 2 /3
RIEGRE : A—N\YT a0 A9V bRy Y ENRI - %1 54 68308 (&)
JIE iz SMEA ouT IN GROSS HDCP NET S
41 I | /R Bh X 93 o0 103 24.0 | 79.0
42 i1 | =H ™ 93 o0 103 24.0 | 79.0
43 i1 |RB J* 92 ol 103 24.0 | 79.0
44 {5 | B IER 42 42 84 4.8 | 79.2
45 451 | JEH FHFF 95 93 108 28.8 | 719.2
46 41 | Bl # 95 93 108 28.8 | 719.2
47 {51 | Il Bt 06 02 108 28.8 | 79.2
48 I | AR w2 48 46 94 14.4 | 79.6
49 {1 ;O IEF 46 41 87 1.2 | 79.8
50 i |B# FX 20 49 99 19.2 | 79.8 |R/RUE
51 i |IUE i iy 02 99 19.2 | 79.8
52 i1 |=i# XKI& 46 46 92 12.0 | 80.0
53 fiI [tEXR K &RX iy o0 97/ 16.8 | 80.2
54 L | Bk #= 45 45 90 9.6 | 80.4
5 i1 |AH &2 93 49 102 21.6 | 80.4
56 fiL | F {2z 46 49 95 14.4 | 80.6
57T fiI | £ FHKE 93 47 100 19.2 | 80.8
58 fi |fE)Il HF|ZE 49 ol 100 19.2 | 80.8
59 i |5 FIiE 44 42 86 4.8 | 81.2
60 {1 |Jb)Il Bk 45 41 36 4.8 | 81.2 |RUE
61 i |[#AK F{Z 93 45 98 16.8 | 81.2
62 i | #3L XB 50 48 98 16.8 | 81.2
63 fiL |¥EFH Fth 48 o0 98 16.8 | 81.2
64 i HH & 61 49 110 28.8 | 81.2
65 i |k =X 45 46 91 9.6 | 81.4
66 i |EEA & 43 41 84 2.4 | 81.6
67 6L | PRI @& 48 48 96 14.4 | 81.6
68 5L NEE F— 43 46 89 1.2 | 81.8
69 {i |BRMS ZHif 92 49 101 19.2 | 81.8
10 1 |/MNE =2 48 46 94 12.0 | 82.0 [RUE
N 4 Al & o4 92 106 24.0 | 82.0
12 51 | BE)Il B5EE 60 46 106 24.0 | 82.0
13 fiI [#iK — & 47 45 92 9.6 | 82.4
14 6L | /NE E— 49 48 97/ 14.4 | 82.6
15 i |8 K F% 48 49 97/ 14.4 | 82.6
76 451 | BEJI MR o0 45 95 12.0 | 83.0
17 i | FERM 52 48 100 16.8 | 83.2
18 fi | BF EZHB 49 ol 100 16.8 | 83.2
19 i | 588 =5 o8 o4 112 28.8 | 83.2
80 i | Efa #HEER 49 49 98 14.4 | 83.6 |RUE




HWEg R

BfERAM : S 5F 68308 (&) FrVESTLTHST
BEAk: ~RUYFTAHDR S AL - 108A (B : 96N - &tE: 12A)
HDCPERR : 5314 :36.4 - &Mt :40.4 HTHHYITH: FT)L/— (PAR x 2)
BLA—L: OUT @@® IN DD (3/3)
RIEGRE : A—N\YT a0 A9V bRy Y ENRI - %1 54 68308 (&)
JIE i SmE4 ouT IN GROSS HDCP NET -k
81 i |1k BT 48 o0 98 14.4 | 83.6
82 i |ZH #IE ol 45 96 12.0 | 84.0
83 i |FE ¥ 46 43 39 4.8 | 84.2
84 fiI |FH 1Z& 08 09 113 28.8 | 84.2
85 i | FFJII BHIE iy 47 94 9.6 | 84.14
86 i | S B ThER 48 46 94 9.6 | 84.4
87 I |[lUA HZ o1 48 99 14.4 | 84.6
88 fiI |i&mll Flz 08 63 121 36.4 | 84.6
89 fif | BlF E=x o8 08 116 31.2 | 84.8
90 fx B+ HF 45 92 97/ 12.0 | 85.0 |[RUE
N | £2F EZ 48 42 90 4.8 | 85.2
92 i BH IE 95 47 102 16.8 | 85.2
93 fiL | &=k ERX o4 48 102 16.8 | 85.2
94 fiI | =8 EXF o4 93 107 21.6 | 85.4
95 i1 FiHh WE ol 49 100 14.4 | 85.6
9% L | BEA F— 49 42 91 4.8 | 86.2
97 4z | BE¥F FHK 06 92 108 21.6 | 86.4
98 i |¥EAE ¥ 46 43 89 2.4 | 86.6
99 fiI |EFri [B—ER 46 43 89 2.4 | 86.6
100 1 & = o4 47 101 14.4 | 86.6 |[RUE
101 i1 | £F IE# o0 47 97/ 9.6 | 87.4
102 i | 4HER FIF0 92 49 101 12.0 | 89.0
103 i | R F#t 09 66 125 36.0 | 89.0
104 if IER & 95 06 111 21.6 | 89.4
105 41 | {kEk EXEF 96 ol 107 16.8 | 90.2
106 451 (e H BME-F 11 62 133 38.4 | 94.6
107 42 | &40 1EBR 23 03 106 9.6 | 96.4 |BBE
108 fir | 7R {E—BB 69 65 134 36.4 | 97.6




